Substitution

d is for dice score

d=1

Who has d + 1?

I have 2

Who has 3d?
I have 3

Who has d – 1?


I have 0

Who has 4d?

I have 4

Who has d + 6?
I have 7

Who has d + 4?
I have 5

Who has 6d?

I have 6

Who has d + 8 ?
I have 9

Who has 7d + 1?
I have 8

Who has 3d + 7?

I have 10

Who has 12d - 1?
I have 11

Who has 4d + 8?
I have 12

Who has 2d?

Substitution

d is for dice score

d=2

Who has d + 1?
I have 3

Who has 3d?
I have 6

Who has d – 1?


I have 1

Who has 4d?

I have 8

Who has d + 5?
I have 7

Who has d + 3?
I have 5

Who has 6d?

I have 12

Who has d + 8?
I have 10

Who has 5d + 1?
I have 11

Who has 2d?

I have 4

Who has  d?
I have 2

Who has 5d -1?
I have 9

Who has 2d - 1?

Substitution

d is for dice score

d=3

Who has d + 1?
I have 4

Who has 3d?
I have 9

Who has d – 1?


I have 2

Who has 4d?

I have 12

Who has d + 5?
I have 8

Who has d + 2?
I have 5

Who has 2d?

I have 6

Who has d + 7?
I have 10

Who has 2d + 1?
I have 7

Who has d - 2?

I have 1

Who has d?
I have 3

Who has 2d + 5?
I have 11

Who has 2d - 2?

Substitution

d is for dice score

d=4

Who has d + 1?
I have 5

Who has 3d?
I have 12

Who has d – 1?


I have 3

Who has 2d?

I have 8

Who has d + 2?
I have 6

Who has 2d + 2?
I have 10

Who has 2d -1?

I have 7

Who has a

half of d?
I have 2

Who has 2d + 1?
I have 9

Who has d - 3?

I have 1

Who has d?
I have 4

Who has 5d?
I have 20

Who has 2d - 3?

Substitution

d is for dice score

d=5

Who has d + 1?
I have 6

Who has 2d?
I have 10

Who has d – 1?


I have 4

Who has 3d?

I have 15

Who has d + 2?
I have 7

Who has 4d?
I have 20

Who has 2d -1?

I have 9

Who has 5d?
I have 25

Who has 2d + 1?
I have 11

Who has d - 4?

I have 1

Who has d?
I have 5

Who has 10d?
I have 50

Who has 2d - 4?

Substitution

d is for dice score

d=6

Who has d + 1?
I have 7

Who has 2d?
I have 12

Who has d – 1?


I have 5

Who has d + 2?

I have 8

Who has d + 4?
I have 10

Who has a 

half of d?
I have 3

Who has 2d -1?

I have 11

Who has d + 3?
I have 9

Who has 2d + 1?
I have 13

Who has d - 5?

I have 1

Who has d?
I have 6

Who has d - 2?
I have 4

Who has 2d - 5?

